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IV Semester B.A/B.Sc./B.P.A./B.S.W./B.Sc. (FC-SC)
Examination, May/June - 2017
(Scheme : Semester) (2013 onwards)
ENGLISH LANGUAGE -1V

The Merchant of Venice & Language Component
Time : 3 Hours Max. Marks : 80

I.  Annotate Four of the following: [4 x 5=20]

a) 1 hold the world but as the world, gratiano, A stage where everyman
must play a part, And mine a sad one.

b) For sufferance is the badge of all our tribe: you call me misbeliever, cut
throat dog, and spit upon my Jeurish gaberdine,

¢) Butloveis blind and lovers Cannot see the pretty follies that themselves
commiit;

d) Hathnotajew hands, organs, affections, passions? dimensions, Senses,

e¢) Tarry a little; there is something esle. This bond doth give thee here no
jot of blood;

f)  Letthe for feit Be nominated for an equal pound. of your fair flesh, to be
cutoff and taken in what part of your body pleaseth me,

g) Igivethem with this ring; Which when you part from, lose, or give away.
Let it presage the ruin of your love,

I. Answer Two of the following : : [2 x 10 =20]
a) Describe the importance of the signing of the bond in “The merchant of
Venice”. :
b) Sketch the character of Shylock.
¢) Comment on the significance of the caskets and the conditions for the

suitors.
d) Bring out the significance of the opening scene of the play, “The mer-

chant of Venice”
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111, Answer Twoof the following : B0 =y
=20
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Read the following passage and answer the questions given below.

a)
b)

c)
d)

v, L.

[ ]

Describe the dramatic significance of the Trial scene in the play,
“The Merchant of Venice”

Sketch the character of antonio.

Comment on the Ring-episode.

Write short notes on two of the following

i) Lorenzo and Jessica

i) Gratiano and Nerissa

i) The prince.of Morocco and the prince of aragon

Write a letter of application for the post of a clerk in Vij
ija
Kuvempu Nagar Mysore. : |y1a XC gl!.e o
OR "

Draﬂ.n letter to the Manager Kamataka Bank, Main street, Kolar, R,
questing him 1o open a savings Bank account in your name. PN

Correct the following sentences:

a) My fatheris a Engineer

b) The servant carried the luggages
¢) Iprefer coffee than Tea

d) New Delhiis a capital of India.
e) We has won the match.

[5><l=5|

Fill in the blanks choosing the correct word from the brackets.[5 x 1 =5]

a) The team the match by one run
(Lost, last)

b) Hetolda about Ramayana

; (Tale, tail)

¢) The old man is too to walk
(Weak, week)

d) He decided to his property
(sell, cell) . ]

e) Sheisa lady
(fair, fare)

3.
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[5%1=5]

The culture of India is made up of many, many cultures and for this
reason, it is one.of the richest cultures of the world. The way of life,
what you eat and what you wear, what language you speak and which
God you pray to are all aspects of your culture. We can say that culture
is all that we think and do and everything we have as members of a

society

All the achievements of humanbeings and groups can be called culture.
The higher achievements of society in the field of art, rhusie, literature,
architecture, philosophy religion, science etc. are included in culture.

cultural development is a historical process. Our fore-fathers have learnt
many things from thier fathers. They added more and gave up those
which they didnot consider useful, Now we have learnt many things
from our ancestors. We will add some to these and will give up some
which we do not consider useful. This is how culture is transmitted from
generation Lo generation. The culture we inherit from our old generation
is called our cultural heritage. This heritage is at two levels. Humanity as
a whole has inherited a culture which may be called human heritage. A
nation or a region also inherits culture which may be termed as national
or regional heritage.

a) Why is India’s culture one of the richest in the world?
b) Which achievements of society are included in culture?
c) Howisculturea continuing process?

d) Whatare thetwo levels of heritage?

¢) Giveasuitabletittle to the passage.

5 o

Scanned with CamScanner



10302

IV Semester B.A/B.Sc./B.P.A./B.Sc.(FC-SC)/B.S.w,

a)

b)

c)

d)
e)

Annotate four of the following:

Examination, May/June - 2017
(Scheme : Semester) (Prior to 2013)
ENGLISH LANGUAGE -1V
‘Macbeth’ and Language Component

[4x5= 2
Fair is foul, and foul is fair! '

Hover through the fog and filthy air.

There's no art

To find the minds construction in the face.

He was a gentleman on whom 1 built an absolute trust. I

The earth hath bubbles, as the water has, and these are of them,
All hail, Macbeth, thou shalt be king hereafier!

Here’s the smell of the blood still: all the perfumes of

Arabia will not sweeten this little hand

Life’s but a walking shadow a poor player that struts and frets his ho
upon the stage, gE

And then is heard no more;

Answer two of the following:

a)

b)
<)
d)

12 x 10 = 20]

Comment on the d ici ;
‘Macbeth’ e dramatic importance of the opening scene of the play

Analyse the character of Macbeth

Write a note on the “Murder scene”

“Macbeth is a tragedy of ambition™, Discuss

ada

1. Answertwoofthe following :

V.

M-
2710302

a)
b)
c)
d)

M-276

12 x 10 =20
Analyse the character of lady Macbeth.

Bring out the significance of the Banquet scene in the play ‘Macbeth®
Write a note on the meeting of the three witches with Macbeth and Banquo
Write short notes on two of the following

i)  Duncan
ii) Banquo

i) Macduff

Language Component
Fill in the blanks with appropriate words given in the brackets:[5 x 1 =3]
a) There are seven days in a . (Weak, week)

b)

A___ isa place where we get
Milk and milk products (Diary, Dairy)

¢) Evennow animals are brought to

the forsacrifice (altar, alter)

d) Keep____ please. (Quiet, Quite)

¢) lhaveto the accounts (Check, cheque)

Expand one of the following: [1x5=5]

a) Anidle mindis the devil’s workshop.
b) Slow and steady wins the race.
¢) Afriendin need is a friend indeed.

.
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Read the following passage and answer the questions 'm?low. .

Honesty cannot be only a policy but also a principle. There is a
difference between a policy and a principle, thatis a policy u’:‘h:'.!'}gcs but
a principle does not change. Honesty refers to the quality of being hon-
est. truthful and sincere. An honest man is fearless and courageous. H_c
does not low his head before others. He can face any situation in lillc.
But the desire for money and power of money, of today are the main
causes of dishonesty. Money is such an important part in our society
that a dishonest man lives more comfortably than an honest man. This
compels the honest man to wonder whether honesty is the best policy
The disadvange of dishonesty is that the money or wealth acquired
through dishonest means will not last long. A dishonest man is fearul,
immoral and corrupt. He can cheat the whole world but he cannot cheat
his own soul. The rewards of honesty is honesty itself. The character is
the crown of life and honesty is the crown of character.

a)  What is the difference between a policy and a principle? 1]
b)  What does honesty refer to in the passage. (1]
¢)  Who is fearless and courageous? 1
d)  What are the main causes of dishonesty? 12]
e)  What is the disadvantage of dishonesty? 1]
f)  What can a dishonest man not cheat? 1]
g)  What is the reward of honesty? (1]
h)  If character is the crown of life then what is honesty? 12]
OR

Language component (Prior to 2008)

a)  Use the following pairs of words in sentences of your own: |2x2=4]
i) Heel/Heal

i)  Meet/Meat

b)  Identify the adjectives in the following sentences: [3*1=3]
i) Heisanintellegent student
i) The foolish crow tried to sing
iii) The poor woman lives in a hut '

c)  Rewrite as directed : [2x1=12]
i) No other animal is so ferocious as the tiger. (Change into

comparitive degree)

i)  Americaisthe richest country in the world. (Chan ge into posi-
tive degree)

@6
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Write a letter to the manager of a transport corporation of your city,
complaining about the insufticient number of local buses in vour arcain
the morning hours.

OR
Draft a letter of application for the post of a computer instructor in a
school enclosing your resume.

[1x5=5

Make a precis of the following passage and suggest a suitable title:
11 x6=06]

It is very easy to acquire bad habits, such as eating too much food,
or drinking too much fluid of any kind, or smoking. The more we do a
thing the more we tend to like doing it; and if we do not continue to do it,
we feel unhappy. Such tendency should be fought against.

Things which may be very good, when only done from time to
time, tend to become very harmful when done too often and oo much.
This applies even to such good things as work or rest. Some people
form a bad habit of working too much, and others of idling too much.
The wise man always remembers that this is true about himself, and
checks any bad habit, He says to himself. * I am now becoming idle,”
and then adds, *1 will get myself out of this bad habit at once™.

SISIS)
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IV Semester B.A./B.Sc./B.P.A./ B.S.W./B.Sc.(Fc.Sc.)
Examination, May/June 2017

(Semester Scheme) (Freshers of May/June 2017 & onwards)
ENGLISH LANGUAGE -1V
“The Tempest’ and Language Component

Time : 3 Hours Max. Marks : 80

Instruction: Answer all the questions.

I.  Annotate four of the following: [4 x5 =20]

a) Twelve years since, Miranda, twelve years since,
Thy father was the Duke of Milan and
A prince of power.

b) ... Hast thou forgot
* The foul witch Sycorax, who with age and envy

Was grown into a hoop? Hast thou forgot her?

c) Some food we had, and some fresh water, that
A noble Neapolitan, Gonzalo,
Out of his charity - who being then appointed
Master of this design - did give us, with
Rich garments, linens, stuffs, and necessaries

d) Is there more toil? Since thou dost give me pains,
Let me remember thee what thou hast promised,
Which is not yet performed me.

e) Filthas thouart, with human care, and lodged thee

In mine own cell, till thou didst seek to violate

The honour of my child.

PT.O.
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f) Why speaks my father so ungently? This
is the third man that ¢’er I saw, the first

That ¢'er | sigh™d for:

g) .. would I had never

Married my daughter there! For, coming thence,
My son is lost, and, in my rate, she too,
Who is so far from Italy removed

I ne’er again shall see her.

h) ... For several virtues

Answer two of the following:

Have I liked several women; never any
With so full soul but some defect in her

Did quarrel with the noblest grace she owed,

[2 % 10 = 20)

a) Comment on the significiance of the opening scene of ‘“The Tempest’.

b) Describe the grand masque performed in Act IV, scene 1.

¢) Comment on the two scenes which plan murder on the island in ‘The

Answer two of the following:

a)
b)
c)

Tempest'.

[2 x 10 = 20]
Werite on the qualities of Miranda.

Sketch the character of Prospero.

Write short notes on two of the following:
i)  Gonzalo

i) Arel

iii) Ferdinand

5,

11604

M-503

1V. Language Component

a)

b)

c)

d)

Change the following sentences from direct to reported speech and vice
versa: sx1=5]

i) The musician told the student, “The instrument is under repair”.
i) Thejudge told the criminal, “Where is your house?”

i) The victim told the police, “Don’t kill me.”

iv) The teacher ordered the student to stand up on the bench.

v)  The minister said that he would release some money.

Write a letter to the Chief Engineer, CHESCOM, that there are no
streetlights in your area and request them to solve the problem. 5]

OR

Write a letter to the Editor, Mysooru Mitra about the problem of bad
roads in your area.

Draft an application for the post of a Manager in ICICI Bank, Kolar,
along with your resume. 5]

Write a paragraph on one of the following: 151
i)  National festivals
iy  Pollution

iliy Water scarcity

3.
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10313/LLD 200 mimamamnmenm M-168
08146

S1.No. Total No. of Pages : 4

IV Semester B.A./B.Sc. Examination, May/June 2017

(Semester Scheme)
COMPUTER APPLICATION

Time : 3 Hours Max. Marks : 80

Instruction :  Answer Part A and Part B.
Pn-Q B FPNR-V 0335.‘»4 VIO

PART - A
;ﬁ:}ﬁ - @
Answer any 10 of the following. [10x2=20]

oinEte B3 TINRR LVZ0OR.

Q1) What is computer?
BOTLIT* OBBEN?

02) Name any two secondary storage devices.
030YTOTTR DT FBoBD AReders RJR NI, BROA.

03) What is hardware and software?
RO e0’ P T Fe0° DOTTEN?

04) Expand PROM and DRAM.
PROM =@, DRAM ¢ m_;)é SRT WTOND.

05) Convert (35),,= (7),
momdFa. (35),= (1),

RLO.
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10313/LD 200

o
| language:

©6) What is Assembly leve o~

wdon g0 oS 20
07) Differentiate RAM and ROM. _ =5 3¢,
RAM =% ROM ¢ 533 wbd 3%

5 a7
08) What do you mean by Bit and Byte:

i S g SoFd?
S

©9) Define Flip - Flop.

— e
2T - I, SR

8 0

(Q10)What is logic Gate? List them.
ooRE Asty Soodem? SR, BROK

@11)Mention any two advantages of Internet.

ciRPmeTte ST TOBTELE sdeednvsy, 2)50W00.

Q12)Write any two features of MS-Word.
MS-Word § 20 rhrevgenda g0,

Q13) What is an Algorithm and Flowchart?

Sloplelate) R FRMITF Q0TTERT

Q14) What do you mean by Search Engine?

MUEF aouT Q0007

M-lﬁa

10313/LD 200

Answer any two Questions from each main.
S3odeomk e, TN CIRFPTHCR 0B TFNCH LuIdA.

Q15) a) Bricfly explain the characteristics of computer.

b)

c)

Q16)a)

b)

c)

M-168

PART - B
-0

rieegodozs mrwg_ramm‘l ZojZmeh OToA.

Explain the features of [Il and IV generation computers.
negododn =eus Pt m:ﬁdﬁz eenod TREROFRENYEY, JZOA.

Classify the computers based on working principle and Explain,
riee¥od0o3E TOLFATFBE IIReR vRorbremeh LoTRA Terd DFOA.

[2%6=12]

Explain functional units of a computer with neat diagram.
nregododd mOLFISFERL®, vodmT ¥IBRODA DTOA.

Perform the following conversions.
BNTYrivR, TOBIFA.

) (11110),=(),,

i) (235),=().

i) (ABC),, = (7),

Explain different types of ROM.
206 wrich ROM R, D0

[2x6=12]

3=
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Q17)a)

b)

c)

Q18)a)

b)

Q019)a)

b)

10313/L.D 200

BAREESFE LY BVLE PEER =S 3 |adl! I "‘w:.HE
eesa st bARARARRER RS RREE RannbinhLias et

barcaliEER

ers with example.

pact print  ooCr B8 S0y,

Explain Impact and Non_l“lﬁs. 08T nead,

QOTRE, NI o —ROTY;
3 e = gcs.

Write a note on computer programmi! o 268 WTBOWO.
el

: sz 19 Wi, ¥
BOTRMT” BRIV Jaéorfaez:s‘ 7,

What are universal gates? Explain the::l.
CWIAD TS N Q0TTEN? D[0A. [2x6=12]

Explain the applications of spread sheetg.
Spread Sheet 3 T3 RENNTIY, QHIOA.

Write the steps involved in Mail-Merge.
Soer—RFT QNG BOIAYRY, WIWO-

: i logies.
What is network Topology? Explain any two topo .
SEITF BRBR0B H0TTET? SPRTOTTR DTE ﬁmmozﬂﬁ#m‘t

RROA.

[2x6=12|
Explain different types of Computer network with example.
BOTRWT SEBTES I VN VDOBTFHOD R0 NWOA.
Explain the following terms:
) WWW
i) HTML
i) HTTP
BINIPYNITY, DWOA.
) WWW
i) HTML
m) HTTP
Write a short note on E-commerce.
ﬁ—mz'éméd ALy ass:::fé 23000,
[2%6=12,
(C24.91024.0]
e

S |
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10347
gINo. 0850

IV Semester g, A
(Semester Scheme) (F;-

memanam MV -188

Total No. of Pages 2
Examination, May/June 2017
eshers of May 2010 and onwards)
HISTORY

Indian Natj
ational Movement 1885 - 1947 A.D. (Paper - IV)

rime: 3 Hours Marks:80
. . ’ r :
[ustruction. Answer qli Questions -
DR JYaens VI0R,

Long Answer Questions.
pepF Y383 TJRs.

Q1) Trace the Role of Extremists in the Indian National Movement. [15]
OUSE ToReOD BHTEODY Semmaons g, ISR
OR/ &5
Explain the causes and Results of the partition of Bengal.
2)OTRYE PRI 0N DY) TOFRNII), I[OA.
[15]

02) Examine the Importance of Non-Co-operation Movement.
©RET0 BHBLH DBIW, F05e0.
OR/ &30
ubaschandra Bose in the Indian National Movement.

Explain the Role of S
o 305, BReRT TIRRY DTOA-

03T Todeod HHTLORG Bew

Short answer questions
1oN) mgdcj gﬁiﬁ%.

10
03) Describe the Jallian Wala Bhagh massacre. [10]
m@aﬁa‘meﬁamn‘ 5335530“5&4 QTOA.
OR/ ©&@w0
Give an account of three Round Table conferences.
D) RO 30edS n’ﬁaee%ri@a‘bﬂl 203 WooN0.
PTO.

o’ |
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Lebkbibbensaill LR ' ‘
M
10347 me-Rule Movement Eﬂ&l

Q4) Explain the importance of Ho P Som.

ooh FD
Bpeo Bpe* ¥HS f) R/OTI

jtion O
. . ; for the pal'tl
Discuss the Factors ResponsibI® g, PR

0038 e sdnmes ©O

f India.

05) Short Notes.
o BB,

Answer any Six of the following.
BN o3YTTH Slol A

a) Surendranatha Banerjee.
R0GeoTTR méeizﬂr

6x5<
033 OO, 52

b) Muslim League.
Zoo Den®

c) Surat Split.
RETES LBR.

d) Jillian Wala Bhagh Tragedy.
ZOODP oL TTOS.

e) Chandrashekara Azad.
WoTBeT B,

f)  Gandhi-Irwin pact.
Mool - YorFrs® a.agocd.

g) Dr. BR. Ambedkar.
30.0.80°, aoﬁc@c‘

h) Independence Act of 1947.
19470 7308, 50003,

(G249 0 4.0
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o 4804 e M-335
SI 0.

IV Semester B,A_ E

(Semestey Scheme) (Freshers)
ECONOMICS
Indian Economy
rime: 3 Hours
Insrmcrion-' Answer all Borts.

OB RS ez,

PART - A

—_——il

W0 - o
Answer all questions.

Qt@, gﬁiﬁ@m eﬂ)é&?\)

01) What do you mean by developing economy?
ORB D, BRODDENT B33 ROTTen9

_]iQ 2) Give the meaning of renewable resources
DRTORW BT ?doajme@ﬁ@ VDFATTH Jed.

03) Define poverty line.
WEST Jes3o, DESPIN

04) What is Density of population?
EITOTZ DOTBeRd?

05) What is food security?
S8 T3 0ETesd?

S Total No. of Pages :4
Xamination, May/June 2017

Max.Marks:80

[10)(2:20]

PTo.
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©6) Give the meaning of ‘crop pattern
i Smoblon wgr Dl

07) What is globalization?
mndcgde acwgi?

08) Expand NABARD.

NABARD 5, 2%0%.

©9) What is public Distribution system?
marEdE DIom TR 2omge?

QI0)Mention any two export promotion measures.
oo - 290,
cimRmence aumd 038 wdng geoneas, 89

mn -9

Answer any six questions. [6%5=30]

cmFEecie gl TgAen TR

Q1)Explain the importance of natural-resources in economic development.

eerRgR oty SFNFE HoTARLTY e Eohay, HOA.

Q12)Explain the difficulties in the measurement of National income in India.
GROSH To&ito SoSnan IRTE0Y orwts SR0TONYEY, 204,

1

10353/LDoy

QJJ)Bricﬂy exXamine

the
lan Progres i 2
I; s of Indian agnculture during 9, 10® ansdsl,ls..
SN0 11 3y, Tou

- a1
AL Tobeos, v CSEANGY GRovd gach Zrich,
@14)Examine the maip features of |

19918 $mom 991 Industrial policy.

2
oD IZng VRNV, Tobdtdx,

(15)Write a note on disinvestmeny
TRAT Wodrzly uij\ W wdop

16)Briefly explai
. ?«Tﬂdsé &Q:To? r;ce t reforms in the Indian Banking sector.
1 OOOBON By Ry, RogHTN IHON.

17)Discuss the re . . .
¢ fApletciata] as::g:; e ;‘ Creasing public expenditure in India.
L - RUFERE
Sl worenvd, WA,

Q18)Explain the causes for poverty in India?

RU36Y wEsHg ats RORRYE, ATOA.
PART-C
W=

Answer all Questions:
DU TPAENR WIDA:

[3%10=30}

Q19)Discuss the role of human resource in economic development.
3&)?5-:2;;%%03::2 SRTT FOTWIRYVT WMIFI, wiFA.
OR/sgm

5=
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10353/LLD91 0 . equalitics in India and Goverment Dol

- come 11
Examine the causes of 1nco

measures to reduce it. % .
ok 0 3
03RO Smod oxsnsd T0
3 gy, TodDA.
ductivity in Indian agriculture.
pro 9
g3 ﬁadcarieéag o323F A.

OR/&3@9 |
re finance in India.

020)Discuss the causes of oW
o030 FA0P AW Spreel

Examine the sources of agricultt o
q-‘ -
033§ BroToRE RIROTVRY WOSCOR

Q21)Explain the types and causes of unemployment 11 India.

03T ATTBRLNT QFRY, FoTNYRY, DBOA.

OR/&9B&30
Discuss the causes for adverse balance of payment in India and its correctiye
measures. :
503G HIRO TR SO woND I, VTJ), AOBRRT IIriviy
W3 A, ‘

(€420 0240
-4-

Scanned with CamScanner



10335
SINo. 1919 mmmmn M -141

ROFAD W¥Bh@rx D.0./0.&.0. Boeg, de/men-2017
(3[R 2035°)

DUF INT (VFB-9)
SRR sos -9 T BYNIH T,80H0-9

Total No. of Pages : 8

| p=dvads: -
: ob: 3 riosing nog wodrih: 80
nRWN: QVONR &%&tﬁ TIFeee moh.

@ Qyen
(2013-14 00T 2016-17 SRINI RPFAVK)
SRASE =52
ohBReFT 2803 (40 wosRD)

1

Fl) ©) 20TV RRJ, ROTLF Fwd DFOA [4]
0) VONSODTT® eSETITO*
Podhexhde B0LTEN ﬁéama’gtﬁ ge*
DohAT HY BoeHD
o 3To 3TF e dpeBETRRYEE

9) TeDoDhT TTFOWOTI
MRTERT EREIDY BREOTWOF TR0
DoS0ReYE0ed B
@'%aséﬂmfétﬁm;ﬁ JO=8INogorwe

) D Zoner egF Wwiodd: [6X:=3]
P, @, 0T, 23073, YVTRODS,
g3F, 3T, 230E030G, JOWO, afelnvlal
BoTHs, 558, BEFBOIRTR, AT,
=) £
PT.O.

Scanned with CamScanner



'“T
M-14;

l4 x 2'/;:‘ nl

[10)
—nImnS ? =05,
mnYEy, DB,

151

3y
&
o
S
-
(9]
8]
151
(€}

|

2
=

Lo

e

({8 14
¥

g 2L

—— [5x1=5]

[

5
2ie
5
w ()
g i
iy

b D
o8
5]

="

i
1L

1
§
D O

21 &1
o
& f
i1 |

R
gd8a
3 2

=
et it L )
rd =ons TEOite

A

oa
€1

e Swmnl

(2010-11 Box 2012-13 T =3NS ar.-,%amm
SnE® we-D (wode S xonm) (30 ©oTnh)

2T0k: 141
0) o o ;

&
2y dnc¥w DE, 38 drod Sidoms

i -
spwhow Fdcing

M-141

6%v=3]

wdohbd,

+ B2, BLE, wmh,

PTIVER, B0 wme o, [2x1'4=3]

HOTRTD, TRFTIer, wmaing, TgEeos.

2) ™YB AOTRF MBI, wR0: [4x2%4=10]
Q) uo3ohsy, 38R w Brvdded

) dedry wWIW wobrmyd:

) D AN N omhad

D) OO xFF Ut J03¢ deud ddmw 00

#) Lweno=o atﬁigé ﬁéa‘scéa’r.e LR TAT v Ry Bt

L) mw wIQ #38 woad md
3) wom IR 3o 110}
0) o3 RPNV B IUC FFoTHD), SedFA.

g o B = -
) weawdod ééuana&ocs 30T $38 el D) s Ho3LAaT
wRch, D304,

Z4) ) woth TJR ToATTN WO =l
0) OnhxeRoiRd Hognm, TEn WmASAT Drsch, BOW| 280%0.
o i - A% = s ~
3) mEndohEy, RoTRTE WARD TirRod SRAU TORITI,
QRN

Scanned with CamScanner



2N ©)
0)

=)

- s IDL
rodgom :EDY ¥V
mmue amc =0 ?

ozon mESE

v P En s le s
B) o ATNIEE ;._!.:h--*~ T,
S-aimn

(2008-09 =% 2009-10 © ;:nabarﬂcﬂ)

ke wosnd
SrRE B-S (EERSES meng) (40 )

ToOnive WI BID TR
TOTOSC LS

8D 8ed clovemronings
TR0 Baunt Loy

et Ionel eor woohd:
woaFg, Bed, weoh.

oedo, SReE0, REcnn, RE, oW

Rl rete]

SIIXC, TREY,

QTB LTV, BOT ued »

#
a.

H
<

BCLUORCL, NCRICE EL, TONE,

-4-

fonie]
| M-141
=2) LT Towyr O, wdens,
0) TRTOW Lciaes [4%2%=10]
ik % 3F e
G g S aa WmaT
D) PR3 8% uemed
n A TEESS BT 400 38ctaen
X)) &% &m roreg 5}-{3%:&
9) =IBRVR %I nog Th
Y of Imdvsendroton
2ot TBR wuda:
4 |3 IR ooy {10}
0) ®SIRC Co»ID, sz =20l
4 Z2ob IR
Bk oaaaa,l g, 2\ A 3ome RI0Y WIFTNDS
2) B[RO Temd BB Sdemidonin, aon.
) ©) wOW TJH FoITTeN wugdn: 151
0) =0=C e, Bo2UTOD, B3, WRT- 20 WY Towod IwA.
3) BIRCEDHI ITH NIZY TS TOIADS  Bedob,
200,
[6x%=3] ¥) noBReTD THTY LeIok: B i |
0) ‘BH[RY o MO, §INDT H3gomh BIGewd 9
2) doauTeed uwsy Gesn RO ?
%) TAUD BRI, SHOMT RO RIW ?
[2x1%=3) £

¥) BROLYS BIX R ?
%) wsRg Bl sochod Bxde ?

-5-

Scanned with CamScanner



1)

=

— IR
. A = IRACEE i
= o0k S0, & s
) = oy RO
- Lad =
- -} dw EFGFW ¥
0) ek Bt
E Y
- AV LTS~
= T )
- =onane
& - ey =

9) meos wsdd
3e00 Traw &M%
2
Log §3s derEtd® Foxs

) e IoNen EEF Al elovi

eEbr, oMot LAt LoD, N
o i o i
nianss, genld, womon,

) Fedxhda, e Shofolom num 28D INHAT
3) mmgcuiom ﬁ:ﬁ:i:::t:’ S Wmack Axxd Scwod
&) xzFdevd ond domnhmr Ipmmon mmendd
¥) TEmuRd smaragocmiam T Ly schdow
%) phdoctd dundok Hed T foimm

% :
L) EWIRTORT mIon T80 maLAT nommnd

i) el

2)

g)

[6x%=3]

) ©)
[2x1%=3]

[4x2%=10]

0335

~ TER ToaT [Tk {a) 1
2,00 .55‘.\“ -vui.:‘mh .‘.%\Jh.

M-141

%.j;ﬁ '..";‘.%{J&: 110}

Q) TOTT IRONIW, IMTIY 10 3¢ Bk IPmend 7 L=OX
i e ()

U:éeﬁﬁ

ROTHF T, HTOM.

Fawic 9

I, TcdownT whiohe y AeesTon TOTIFHORT

151

envT—

Q) R DL, DRGT B AIRADPY IR JevTE, VOB
wdo.
9) PowTexUs X3oh T WO wiChO.

0B8R0 THETY LI, [5x1=5]
RERAUS Y TR ?

todrfod bt odmds 9

3) BHES ConGEh iR ?

EHERAC nd RY iRy ?

opRc® olRT ?

a#ﬂa_ld mﬂﬁdt‘a -3
(s%abré TTE00) (VO woInw)
2000 RAI[H, ARCTRTITETRA HTIOA: 141
0) 350&@@ s¥olepraniay
33home SR WRT REIRR
X30ieY SEATFTH Q

%p Towhe Zowlery3 b+l wplxle]

Bgchow R IIE,

Zooiny wdckoum® ;)cﬁidoimv‘ e
980 SPCRYTFT

[afewviatolog

B9 wyandow s JUD

-

Scanned with CamScanner



10335 M-14,

) BB Aoy meyAvEy S[OX: )
Q) 8§ ST Swusd WRFO
) Breuey FoBehd SooQrLER0
%) Fow ey Heco BRGERHRC
¥) =D Bg SN Ie3

Q) OB dRehrv, HODH LT WINO: [2x3s4
dNBY, Seodngr, IKHROFZ, FSHTD.

36) ©) UG BT DBeRRYR), WIOWO: [3x3=9
O) WBEIT &3ITTo3Z TeTHSRFO
D) RRE nomowgRTeRiddy Hiie
) o8 I DoIRBI0
®) Redodn BROIW TR OB
A) Snesy OF Je30; et DONEIINRYO
L) IHT wEAoHI Seed wIgo IOTO

¥) £0BROD TETY HVIOA: [5x1=5]
Q) ©IPFIoT 0T 9
2 C:Jdécodm é)zp‘i aj,séoda o3RRI ?
A) ANTIFTOWW HOTBe 9
P) S@wh odns ITRRE, BBEIAS 9
&) BreRTWO" 81 303® ITT Tod ST PP 9

F7) 2o TFR «030a:

Q) NBPI 20TBeH ? T, OF 9 OB, NIRBTHILOOR O
D) DPE TB 20TV ? NRBTBRLROOR DT

[10]
o1

® % %

B
(7T NI 1 |11 LT L T T

Scanned with CamScanner



rf e

103402691 mamamna M-227
SINe [V Semester B.A. Examinatj Tyl N B

S on, May/June 2017
(Semester Scheme)

POLITICAL SCIENCE
viodern Governments (France, Swiss, China) (Part-I1) (Paper -IV)

! ks:80
i nsfﬂ‘c‘i"" : Answer all Parys, IS

IR N w3y,

RT-A
. ®it-o
Answer any Five questions. Each question carries Ten Marks. [5%10=50]
oIRITTAR D FIMOR co3on. By FIR m3y wourieo.

gl) Explain the functions of the Prime Minister of France.
TS TS FoZod TODFNG, A[OR.

02) What is Referendum? Explain it’s merits and demerits.
TS0 APFT DOTWBERN? &TT e :Hd) TREIANT), HTOX.

03) Describe the Composition and functions of the National People’s Congress
of China.

e s cageoi: D! woﬁ?gp’ O TATY DB a'aod:rﬁ#ab& QDWOA.

(04) Write a note on the constitutional council of France.
TS XNODGRTOIT TS Wi 138 wBOWO.

05) Discuss the Functions of Swiss Federal Council.
AR'S PETS® PRSI TODF TR, WBFA.

06) Explain the Rights guaranteed under the constitution of Peoples Republic of

China.
Bee w0 ReeTR%T RODTO) QERLT BRI, DFOR.

PToO.
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ce.
Q7) Write a note on Administrative Courts of 1;;1 13568 2 GoW0-
WAS uromay motpuedry ¥h, O T

1 of China.
08) Examine the functions of the State Council of

Weos Doz, AI0D FODFNTRY, $0beOA

PART-B

-8 . ifeen Marks. [2X15=30
Answer any Two questions. Each question carries Fl;ge;c:b e 2y ]
IRFTRTTR STF JFRER IOk, T JB e J

constitution of V Republic of France.

09) Discuss the salient features of the Rz, BBFR.

WIS DBI neover, XONGOIT 0D VB

functions of Swiss Federal Assembly.

010)Analyse the composition, powers and =, dFear.

AF PECS edogod TS, wOERT I, TODFNY

Q11)Explain the salient features of the constitution of China.
Bede XoDFIT IR VFoNIy, DBJOA.

Q12)Describe the powers and functions of the President of France.
CARTI ToTR 80 ©RTT DY) TODFNTR, D[OA.
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e 119 Total No. of Pages :3
S v Semester B.A. Examination, May/June 2017
(Semester Scheme)
GEOGRAPHY
Human Geography (Paper - 1V)

uction: Draw maps and diagrams wherever necessary.

Ir
Ins eog0gd 78 DI BIHRY, w0

PART -A

R - &
Answer all questions. Answer should not exceed 50 words: [5%2=10]
oo ZERORR BVION. WWITH SO Taen &SSO,

@I) Define human Geography.
PR DIV mm«mgasmi wqiefh.

OR/&Bw0
Name any two important American contributors of Human Geography.
SIS PeReTIITE BN BT QT TRIND 0TI, BROA.

02) What is Environmental determinism?
TORT TEPITT DOTTED?

OR /&3 =0
Name any two tribes of the world.
T@owd odRFTeETR STE LOTBLNYD, BROA.

(03) Mention the important Economic activities of desert region.

DR DEET TRND SOFE FINII, IOR.

OR/2T =0
What is Human Race?
SRIF Zmeon 0WBER?

PTO.
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©4) Mention the W0 l_\'pi ;
Pygerg S0 5

OR/SE

o
What are Dry point settlements:

~ode?

rrogeog SRAME SC=2

; jgration.
. finternal M1
©S) Mention the types © < X0

ycgos Sedon N

OR/ET

What is Boundary line?
riades3 conde®?

wn -2

100 words:
Il Answer all questions. Answer should not e

N30 zoned aoeonod.
STy e wIdk. WITF 100 =5

©6) Explain the concept of possibilism.
Top@nechmEn TormIHen Wi J=0A.

OR/ega

Explain the main Economic activities of pygmies.
LN =H0 TEDD CHFE WLTUENVER, WTOA.

©7) Explain the physical characteristics of mongoloids.
SoRzeRoFD T vgeneRs, =k,

OR/=gam
Explain the major characteristics of christianity.

8,3 UFS gmnd TRrROSRNYEL, JT0A.

3

M-14

[4%5=20]

b

1
| 03 83 What are the main causes anq ¢,
¢ Folod TERD wdreny

M-14

res of migration
gwwm‘.\ a0,

ntrolling meas,,
e Bty

-

OR/som
Describe the problems of ryrq)

settlements,
RNt [XRSNY nmxﬁnqm-l

o,

09 Explain the types and characterig;

s of state.
oG THRD AP I

OBV, Q0w

‘ OR/ugm
What is Buffer zone? Explain jts characteristics.

Suﬁidow QOQGE&)? ATT mmog‘mnqm‘* aTon,

PART - C
0, )

Pl Answer any three of the following:

[3x10=30]
fons olRPTRTCR T BEnen SLEE

@10)Explain the field, scope and importance? Human Geography.
IRI= mﬂmwwid g3, T2 I} TRENDIHI, DTN

Q11)Give an account of the global distribution of primitive tribes.
TFouT THoREN woBsFItD Boudoba, BwoH wicwo.

QI2)Explain the classification of urban settlements.

sng RS ﬁherﬁdwdaba_ 2TOA,

Q1I3)Analyse the import of geographical factors on the distribution of human
religions.

SRTT FFTY Toudod hed PRRees vosRy TpRSITD, DJean.

Q14)Explain the Heartland theory of Mackinder.
NG [oTafoh] TowF o f’\.c:ri)caa',am:s:'t fRROA,

OFTCETD

3-
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i 10346 R -460
SI.NO- 1[% 9sgemes ter B.A E . Total No. of Pages :2
A, xammation,

M
(Semester SCheme ay/June 2017

| | . SOClOLOGY
Indian Society - Tradition & Change- 1 (Paper-1V)

. .o« 3 Hours
Timeé: 3 Max.Marks:80

Answer all questions.

" oo ZEARe wEoa, [4x5=20]

Q1) What is Sanskritisation ?
m‘o*‘%éeﬁdre QOT3eD 9

Q2) Write the meaning of schedyled caste.
TOd 3D OTFI, wdowd.

Q3) Write a note on health problems of scheduled tribes, I
E WOBELD, NPT c::?ciraerié ﬁﬁaﬁﬁ'é 27 83368 2080D.

04) Who are minorities ?
VOTOTVIDL 0T IR 9

IL. Answer any three questions [3x10=30]
CIRPTOTTLR R TJnen ew3da.

05) Examine the process of Westernisation.
TRTY3,eE00 TFODOD, TOdedR.

Q6) Discuss the problems faced by scheduled tribes in India.
PRUBTYT TOSF Ton@nh rDOIW ﬁmvgmd‘ 2328F A

07) Explain the role of Dr. B.R. Ambedkar in the upliftment of scheduled
castes.
TOSF 230308 DERODY @o. 0.8V VOB TIT TRI[I, DTOX.

PTO.

- ‘
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.. oorities in India.
©Q8) Describe the problems of Linguistic min oy

PROITY e YOK0,IT XA,

g the medieval period in India.

Q9) Analyse the status of women durin DPedN.

S
DGETOT RO Hdodd RISRIS

" l A "
Q10) Examine the welfare measures for the upliftment of scheduled tribes iy

India.
FooDF Ty
ROICY TodY Jondn " HenmeN ANT FRFP Eonea,
T0dedA.
IIL  Answer the following questions. ' [2x15=3¢)

39NT TBRYR, woIor.

Q11)Define Modernisation and describe its characteristics
Bmacwream_l TWERIX. D) VT OZrRYD, SedFA.
OR/oga»

Elucidate the problems faced by scheduled castes in India.
RUIBOT BOAY Wit IEHODIDE BDHANIR, DITIAA,

Q12)Discuss the constitutional safeguards for minorities in India.
ERU3TY ©VRORIONT RODRTOFE ITOBNGR, BWaIr A,

OR/&gw
Examine the status of women in India after independence.
TBOY,; VOITT FRUITY HbYodhd MITRITD, TOdeON.

® % %

-
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23 -
103 0 1 60 Total No. of Pages :4
Slﬂo-[ ’ gemester B.A./B.Sc. Examination, May/June 2017
(New Semester Scheme)
CRIMINOLOGY AND FORENSIC SCIENCE
Law of Crimes

Max.Marks:60

e D Answer all questions.

ucht? QR JJnens vzda.

2 Al questions carry equal marks.
QR JIBnons I[RS GoENsD.

Trace the historical development of Indian penal code.
003 goi F0H30H NSTOAT BYBEBROD, THTWSR.

OR/&%3e5
Examine the provisions of Law relating to Judicial acts and acts of
children under general exceptions of IPC.
7003 BOB B0&%300IT TR, DTS vRoHY TN 3o
D) DY 3ZY R BSFAGINIR, TOSIR. .

0)?

b)

What is murder ? Explain its relevant sections of law with suitable

illustrations.
28 aomded 9 Xeg doﬁ?JOSﬁ%Oaﬁ
ngs), HWOA.

02) a)
owoH3 TIPS TOO

OR/&T&e
b) Define grevious hurt. Explain what acts
specified in IPC.
SeIMRONT, 39309
oSS D 3¢ ™

amount to grevious hurt as

2. 003 BOB Rob3ohY AH DRADT03
oDRTRrDBN S0OTI, BePO.

PT.O.

- T TL L
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o theft with suitable illustrag;

m MESF !

AR08 suEssndeonn gwan F0W0
Toedn,
OR/&T0

b)  Differentiate between Robbery & Dacoity
LRd DD B aﬁodﬁ 556336243063).

Q4) a) Explain the organisation and powers of criminal courts in India
TRUIBOT wToRE m,cIRODNIYS BoTPUE DR @@aacsﬁ%q
WIOA.
OR/&gwm0
b)  Describe the provisions of law relating to bail and bond as per Cr. p.
ZR0Z TIIR To&HINYOF W BB, INYLEOR TIJn
BRTFAGINGD, ITOA.

05) a) What is confession ? When it becomes relevant ? Discuss.
3BoE 2080 9 ckewen SRR RRFTIOIS 9 BWuFA,
OR/&8w0

b)  Write a note on oral and documentary evidence.
TPDE DD NS ROTNY W wowd TP 2B0ND.

® % %

¥
. TPSSR el
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53
f semeSte" B.A./B.Sc. Examination, May/June 2017
A\ (Old Semester Scheme)

CR[MINOLOGY AND FORENSIC SCIENCE
Law of Prints and Impressions

Max.Marks:60
gt 1) Answer all questions.
et ou IAeRs ww3de.
2 All guestions carry equal marks.
AR JBNONA TINT WOIND.
3) Draw Diagrams wherever necessary.
BewiO WINYY, WA

g What is dactyloscopy ? What are its importance ?
: Ao9RN0R, VIR 0TS ? WS TREOAINWD BRJR) ?

ORASTI=™

p) Writea brief note on the development of fingerprint science.
309 S0, D2RFT BeBBrod Ded womd F0IT £33 2800,

5a) Explainthe procedure of recording fingerprints from a living person.
Bes03 FJOWOT BoSBOBRTE, ToDIRERR DTOTTI), DWOA.

OR /&80

b) Give the organisation and functions of the state fingerprint bureau.
ooz, B3VYRNTR, BoF o RoPuI DI FODFNTI, eBO.

§a) Explain the Loop & Whorl patterns of fingerprints with diagrams.
SOTmE WIRRODR oD W) WRFSNY TREONIE, DO

ORASTT

' b) Describe the various ridge characteristics with suitable drawings.
308 33BR00R DG RenY OFRNTI, JWOA.

3
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Q4) a) Explain the role of chance prints in detecting the suspect.
URP3I ILBohY vusmns vFme Kogudecd B0 0Ty W
QTOA. -

ORAS®
b)  Describe the chemical methods used to develop latent fingerprins,

“Rreds zswmc_smma e;zp;jd%aﬁa:sm PXOT RN aqmama
QRTOR, )

05) a) What are foot prints ? Give their classification.
TOTINTD Q0TBed 9 |Yne SHFEFTRTI, VeRD.

ORAYT =D
b)  Whatis gait pattern ? Describe its utility in criminal investigation,
SARH W3 20BBeRd ? HTTROD IALBDY [T wso%d
WR0A.

Q6) a) What are tyre marks ? Explain its types.
JOBIT BT DN 0T3eD ? [T DFNYR), DTDA.

ORAYGo

b) How are skid marks used in crime detection ?
OTRFIF, BRDDTY B¥IR wdrdhd i BSert WIRORIS 9

® %k %

. o eessssssssscxeNCRIRL R e
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| NO- 0 3 1 1 Total No. of Pages :4
o v Semester B.A./B.Sc. Examination, May/June 2017
(Semester Scheme)
PSYCHOLOGY
Biological Processes (New Syllabus)

fime: 3 i Max.Marks:60
I ,,,frudfﬂ"s: 1) Answer five questions selecting one from each.
Jiadeomiouy wocdod o ggnen ewgor.
2)  All questions carry equal marks.
OCR JINCne TSRS SosD.

0l) Explain the biological explanation of behaviour.
S3rsod FNF L[CRoDI, DTOA.

OR/eog=

Describe the process of nerve impulse.
sdwedest TIFODNATI, Sedra.

02) Describe the structure and function of spinal cord.
gdech sHedod TuR DB PORFAYED, SeFA.

OR/e@=e

Discuss the organization and function of cerebral cortex.
AT Xoguid SHH TODFNTER, 2323F A,

03) Explain any thrée methods of brain investigation.
oS ITORECH CIRPYTOETL TR IFEINIE, ITOA.

OR/SB&e
Discuss the studies involving the structures of living human brain.
SRR R DHHOT THSOPRRIRROT SHODIRTE, DIIOR.

PT.O.
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©4) Explain the growth and differentiation of the vertebrate brain.
SB0Y AT BUTIR 3y ARy DTN

OR/&Bwe

Explain the relationship between brain size and intelligence.
DRI MY vy QIS AT WO, DIOA.

05) What are glands? Explain the structure and function of endocrine glands,
BOBN® 2ouBed? wos:m ropny oS Ha TOLFAYEY DToS,

OR/©o5=0

What is hormone? Explain hormones of stress.
V03T Q0oTBed? 2330 Lo MBYR, DIOA.

v v v

—
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[V Semester B.A./B.Sc. Examination, May/June 2017
(Semester Scheme)
PSYCHOLOGY
Biological Processes (Old Syllabus)

Max.Marks:60
Answer five questions selecting one from each.
Feateomvns womoed o Zgmed wFoR.

2)  All questions carry equal marks.
DR JYNCNR T SO,

fime: 3 Hours

ustructions: 1))

1) Describe biological explanation of behaviour.
e R DTTBODI, JeIFA.

OR/o5wo
What is Neuron? Explain Nerve impulses._

30303 HOTTED? S0T0LODI), PHOA.

02) Describe the structure and function of spinal cord.
s3edy shedod OB I PODFNYIY DWOR.

OR/&30
Explain the divisions of Nervous system.

JoHorw 53653%0.‘;: PP ONTI, QDWOX.

03) How do axon find their path? Explain.
FOBM (eéa:p‘mt) e TOODT, Bert BorBRWIS? D[OA.

OR/3&0

nship between brain size and intelligence.
0 JOLOPNYI, W:OA.

Explain the relatio
NHOR F, DH, W, JIOD T
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of thyroid and pituitary glands,

. ion
Q4) What are hormones? Explain the functio o RoQn¥ TORF wmawen%*

VO R[RRRT? P ook, I, B
Minte} )

OR/&F=®

Explain various hormones of cellular functioning.
ReSBoeIY TORFUCHOD I 03 KRBT, WBOA.

05) Explain cell division.
&Re3 DPFHIODIW), DBWOR.

OR/&T®

Explain Mendal’s laws of genetics.
DOBFSTHT I9TT oDTRTR), NXOA.

v v v

N —— |
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IV Semester B.A, Examination, May/June 2017
(Semester Scheme)
COMMUNICATION AND JOURNALISM
Mecdia Management and Media Laws
rime: 3 Hours Max.Marks:80
struction: Question no 8 compulsory . Answer any ‘Four’ questions
each Question carries equal marks.
T3, X033 8 s oh DI LVOR iR IECR TR, FINRVEY
wo3DL. Wb JIRA BIRS WoRReh.

o1) Explain the role and function of RNI in India. [15]

ROITY BT, OF. V. T T P, TODFNTR, WIOA.

02) lllustrate the organizational setup of a Big daily Newspaper [15]
2ot BRG OFIBIFOD TBIOD, 380X

03) List the newspaper ownership pattern in India and explain any two [15]
Hos3TYoDH TEF 2WII BRTONYR), JYRRB W 030 TOTTR

ATB, DTIOX.

04) What is freedom of Press? Explain the reasonable restrictions. [15]
T35 XBOY, HOTTED? TR,0H0I0 WFOPINAI, HIOA.

Q5) What are the recommendations of First Press Commission? [15]
Ipd g vodeens TINOD DPRTRND BRRH?

06) Describe the role of Press Council of India. (15]
POdeoDh TdFe DOBICD TIFL QIO

PTO.
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Q7) Drfine defamation. Explain its types.

SRITR TERAR. $TY AN B0

08) Write notes on any FOUR of the following

OIRP)TeToR mq}e}} esagré 2 0000.

a)

b)

c)

d)

Copy Right Act
_rjpgiﬁamé sood)

Right to Information Act.
EAVL SR B, 508

Sakla Paper V/s Union of India
NRY* BEFV/s §eor Xgord

Circulation
TXeT

Cyber Law
Bw0° SR

State Budget -2017
Coz, so&%od:—ZOl?

* &
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